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pudn_lpx & peivks Do Frg)), Ty FO))

Assuwme . Flx)= G + ¢, [x-Xo)

o
D FK) = (ot (, (onx..) D = Fix,)
2 f(x) = G +G (x,-%)
f'(x,> - f[Xo) + C, [XI-Xo>

Selve kv G = 'F(X,)- F(xog
)~ Ko
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Fix) - FX) + F(X,l NX) CX-X.)
X, —Xo

(j—(X) = ’:(xc> + F‘(K,,Xo> (x- K)J

DA 601 2 painfs ?[xol‘("oﬁ,[x,,ﬂxj)_)

—~—N—TT N T (7\7' ) lez)-l

F(x)= €t € (x-%0) + € (x~X) (x=X,)
D flXx) = C, + ¢, (x,,7;<,)—f— (. (K.'/.)) (x5 %)

= 6 = F(x,)

=) F&) = G+ G (%,~%s) * 6 (x,~X )(x

Dfe,: F8)=Flx) = F(xl Xe)
(ﬂ/’Xa
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FOx,) = €0r) + FOx) ~Fxo) t G (XX ) (%a=%)

)(] "Xo
Solve o< £y
G - Kf[x,) -f(x,)'} - [F(x,)—-f(xo)\
XA-—X, 3 K;"?\o y
xz ‘Yo
- F(X}JJ) — F(X,,Xo)
(K,—-X°>

C,L = P(K,_, X,/ Xb)

Gy > F (x;/ xL/x,/)(o)
= F (KS/ 7\2_/ 7\,) — F(Xl,x")(o)

K& ‘?‘o
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pres——

\E";F(’("v Kt =Ky, Xo ) )

= F(xu,xM/ . - X,) - F(X”‘lax“"b - - 7(6)

L Xun - Xo J

N\/\/\/W
F(x)= F(xo) + (x-Xo) FX, X,) *-. .

‘e . (X"Xo) (X“XJD F(X;z,x/} 7‘0) t-..

.o . /x-X.Q/“’N) - -/X’xm,)F("h,"m, %)




Simpli€ication Lo whi for iy Spact porudt
Ki= Xot LAX ; U= ,2,3, -- W

G = FOx)

G- FxDd-Fix) = Afo

R o Ax
L = F[x&;") F()x 7‘5) - Flr)- 2%{,)#(7(0)
R, Ko 2(px)
= AYF(xy)
2\ @2\)

O Flrn g, - %%,) = A:F_-
" )™
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Nerfon - Grego Fotwond  Tutovplali an

er )= Flx) t DF, K-%o) 4 A'Fs (X-%e)(X ~¥, -Arj
AA 2'AX®

+ . .A“Pb_ (X=X (=Y~ AX)- - _ _
n(@x)"™

Newlon - breqaoxyy  Balweavl IrJMfO’dJ;M

¢ (x)= Flr) t N Enfx-x) + Py x-x)(x -xw-mj
~ A v ~

2.Axv

A

+ ..Yi “___F" /)(—-X‘V){;(")('C-Ax)- e -
n (ax)™ )
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ExAMPLE

[

Q’lNM' e ko"owmz A
o | ¢t | 273
L‘_‘Ll 2 | O 4 | eo

a) Oblun a lp"f MJ)‘vo.n Naw/Fon ,Cn-eﬂoy-pa
Foyword fu“&YPola/ﬁzM,

b) Oblain, a [t using Mewhn— Greqon

Rackwordl  [whevpeladi n
) Eshwak, P vadue of Y af xzox
@ % [ F | AF A'F ASF
o|| ()| o2y | 4-62):) ] 12626
] 4-°= 4 16=4 =1z |
L | 4 20-4:= 16 -
3| Lo

tr): 2 1’_2(7<-o>+ 6

Bx=)

(Aﬁ)

(K- 0)(7\—1) + ...

6 (2\—— &) (x-1) (x-2)

3! (ﬂﬂ)‘s ls
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FR): & =2k +3 % (k) +X (x~)(r~2)
bxy = 2- 2x— 2x'- 3X F X 3Rr%F 2x

r[—(x)': X3- 2X +1 o

b) x | ¥ | V¢ |VF V%
— T2
| L_? 0-l=-21
2 4 | 4-°"4 | 4-FL)=6
2 Lo U"‘:’al l4-4-—|7_7jL /2—5:@
bx)z 20 + 16 (x-3)+ (2 (x—z)(x—z)-r
Ax=1 Z'(AK)
=*
+ 6 (;& ~1)(r~2)(x+)
I An__,

H?‘)— Lo+ “'(K"3>—f- ¢ (R- 3)(x»1> +- -
1 (k- 7) (x~2) (%)
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QOO? K3— 2 p+L N

() Flos)= 0.53- 2(o5)42
lf(c-g) = 0-62% ANSWEL
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